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@€ Why will the speaker make the call? (Z5% #) (2005 % 5 F| fL#)

What did he do with his old car? (@5 #) ( (2004 45 F £8)

Which of the following is closest in meaning to what you’ve just heard? ( £ §#%) (2004

$11 A AA)

Which of the following statements is true about Sara? (X2 ) (2005 F5 H A#)
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@9 Which of the following statements is true according to what you have heard? (2003 4 12
AAA)
a. [ will eat lunch very quickly
b. I will have lunch before the meeting.

I will eat lunch at the meeting.

d. I will eat lunch while jogging.
A PRI 22 R, AT LASGAR B n] 5 fige S Fau)

T

@9 What happened to him after the World Tennis Tournament? (2004 4 11 H A#)
a. He became famous.
b. He joined the airline industry.
c. He had habitual headaches.
d. He became a hair styllst
%@¢m%ﬁm¥ﬁ?ﬁ R IR MERAITIE G, MR A T A" AT
ATLMRIE AC OB E R iﬁﬁ@ ALAAM? BEMIT? IHER?
LRET AR, REFR&SARPAR, FTRsO, RRRErReE, WmRE X
%ﬁﬁ%ﬁ\ﬁﬁﬁﬁﬁo

@0 Which of the following is true about the politician? (2004 5 11 F f#)
. He had proposed the same policy 2 years before the speech.

a
b. He did mention his old advocacy in his speech.

c. There was no time for the politician to talk about his advocacy.
d.

His speech was just the opposite of what he had advocated 2 years before.
B F U, 4RI, “advocacy” X ANRIECHER . RBITHMA: —ZBUA
FOET R T M BOR . 2B P BORE RS BUA M E DR F .
Lk HMER, AREUAT USRI O AR, ETERPRRE R D SRR b, AR X
HOATAE S i)
Hyc, WriEs) s, B3GR HEHE. Traaht, WEMERL LA
1) VEEAFHERE ., 59T SRR S IE
2) PMERTHA KRBT . ABFERRE, nfE, KRS
3) AR 5 SR B Y [R] S
4) FERARERIMAA ALK, WEE RO/ RPRARTE N EE T
5) PEfRBESEIE S RS M. S BUAERMEERRIL.
WIS R RN A, BEATERREAI ST, JF S HT S R IO AT AL, S IERE R

@e What do we know about Susan? (2004 4 11 F %)

a. She learned Spanish in America.
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b. She doesn’t know Spanish.
c. She improved her Spanish in Mexico.
d. She knew Spanish before going to Mexico.

348 J5 3C “ Susan is fluent in Spanish now that she has been to Mexico”, ¥ f# B i7]
“fluent” FIZEA&1E “now that” FUMHIH ., “now that” EHER “HK, BT,
BL “c” K IEBI

WA, RERYE . BEER. EWAERLT, ARELRFREFNOSHRENEL.
W, SFEON. BERTHER, REERTH, 52, TAAEZTHRR TZHK. B
Btz le, —ERESKEMN=R, FEfEERSME—8, A HIREMRIE,
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Listen to the following short statements and then choose one of the answers that best
fits the meaning of each statement. You will hear both the statement and the question
ONLY ONCE.

1. Which of the following is closest in meaning to the statement you’ve just heard?
A. Those who complete primary school often have satisfying literacy and numeracy skills.
B. Those who complete primary school often have low literacy and numeracy skills.
C. Those who do not complete primary school often have low literacy and numeracy skills.
D.

Those who do not complete primary school often have common literacy and numeracy

skills.
2. Why do mobiles support “anywhere, anytime” learning?
A. Because they are inconvenient. B. Because they support informal learning.
C. Because some are portable. D. Because they have access to the Internet.

3. Which of the following is closest in meaning to the statement you’ve just heard?
A. A working adult easily quits his job and goes back to school part-time.
B. A working adult has the freedom to quit his job and go back to school full-time.
C. A working adult may not have the freedom to quit his job and go back to school full-time.
D. A working adult possibly quits his job and goes back to school part-time.
4. What has the government done?
A. The numbers of three year olds have been tripled and will be kept.
B. The numbers of three year olds have been decreased and will be extended.
C. The numbers of three year olds have been increased and will be kept.
D. The numbers of three year olds have been doubled and will be extended.

5. What have you learned about Confucius?
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His educational outlook influences Chinese society and its neighbors.

He is the only influential ancient educator.
His educational outlook only has an impact in China.

The whole world has been influenced by Confucius’s philosophy.

6. Are GCSEs the first serious exam for children in the UK?

A.

B
.
D

Yes, they’ll do those when they are 15.

. Yes, they’ll do those when they are 16.

No, but they’ll do those when they are 15.

. No, but they’ll do those when they are 16.

7. What happened to the medieval universities of Western Christendom?

onw»

They were well-integrated across the world.
They encouraged freedom to teach.
They produced many good scholars and natural philosophers.

They became famous in the world.

8. What do we know about special schools?

A.
B.
C.
D.

Their grading systems are different from mainstream schools.
Their grading systems are the same as mainstream schools.
They assess students based on their will.

They have made the same plan for the same students.

9. What do less famous schools struggle to do?

A.

B.
e
' 8

They struggle to improve teaching qualities.
They struggle to expand in an online world.
They struggle to get the interest of students.
They struggle to improve their prestige.

10. How many females are forced to get married?

A.
B.
(8
D

Over 1/4 females under the age of 18 in 42 countries.
Over 1/4 females under the age of 18 in 52 countries.
Over 1/3 females under the age of 18 in 42 countries.

Over 1/3 females under the age of 18 in 52 countries.

11. What happens to wives and husbands?

A.
B.
£
B,

They share child-rearing in their families.
They share pressure in their families.
They share financial responsibility in their families.

They share housework in their families.

12. What have American children been expected to do?

A

. To go to college at the age of 18.

o

E—8a

B. To go to work at the age of 18.

T4



W\ HEOESAENEHESIE (Z&)

13.

14.

15.

16.

17.

18.

19.

20.

21,

C. To leave their homes at the age of 18. D. To go to college at the age of 18.

What do we know about IVF?

A. It helps women who care for a baby. B. It reduces women’s risks during pregnancy.
C. It results in low-risk pregnancy. D. It leads to selective termination.

How many states have passed constitutional amendments banning homosexuals from

marrying?

A. 24. B. 26 C. 29, D 27.
Why will firecrackers be set off as the bride sits into the sedan chair?

A. To drive away evil. B. To cheer for bride and groom.
C. To show good wishes. D. To predict a prosperous life.

Which of the following is closest in meaning to the statement you’ve just heard?
A. 17% left-behind children in China often see their parents.

B. 70% left-behind children in China do not see their parents every year.

C. 17% left-behind children in China often see their parents.

D. 70% left-behind children in China occasionally see their parents.

Which of the following is closest in meaning to the statement you’ve just heard?
A. Complex traditional marriage customs in China are still popular.

B. Traditional marriage customs in China are not so popular because of their complexity.
C. Traditional marriage customs in China revive because of its complexity.

D. Complex traditional marriage customs in China gradually disappear.

What do we know about parents and children in the Kibera School?

A. Parents have to pay the tuition.

B. A family member must work at school four weeks during one semester.

C. Children must work at school to support their education.

D. A family member must work at school five weeks a year.

What does the speaker mean?

A. Everyone has a difficult life.

B. People desire to have easy life.

C. He is sad about his life.

D. Comedy is desired for those who are in difficulties.

What does the speaker talk about?

A. A kind of performing. B. How to amuse people.

C. How to laugh before people. D. How to perform in front of people.
Which of the following is true according to the statement?

A. The town of San Fransokyo is fictitious.

B. Disney shows its love for Japan by setting the story in Tokyo, San Francisco and Fransokyo.
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23.

24.

25.

26.
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28.

29.
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C. San Fransokyo is a beautiful town in Japan.

D. Disneyland in Japan is located in San Fransokyo.

Where will the documentary be on?

A. In New York. B. In Los Angeles.

C. On Netflix. D. All the three above.

What does the speaker mean?

A. The film is marvelous.

B. The film is empty.

C. He hates the director.

D. Although he does not like the film, he thinks the choreography is good.
Which of the following is true according to the statement?

A. Chris Kyle earned an Oscar nomination for Best Actor.

B. Bradley Cooper slowly loses himself emotionally and mentally.

C. Bradley Cooper earned an Oscar nomination for Best Actor.

D. Chris Kyle earned the Best Actor.

Why is the film nominated an Oscar Best Picture?

A. Because of its depiction of wartime.

B. Because of its depiction of peacetime.

C. Because of its depiction of wartime and peacetime.

D. Because of its depiction of humanity at wartime and peacetime.

What could you NOT see in Virunga?

A. Different cultures. B. Natural diversity.

C. Violence. D. Warlike people.

What does the speaker mean?

A. Getting fired does not mean a total disaster.

B. It was a pity to have lost the senior manager position.

C. The web design company was not my best fit.

D. I have experienced the best thing in my last job.

What does the speaker talk about?

A. A business news. B. A job interview.

C. A news organization. D. A news channel.

What is related to the global financial instability with macroeconomic policy?
A. The weaker economic growth in developed countries.

B. The low aggregate demand in western countries.

C. The exports in developed countries.
D

. The macroecorromic policy conditions in advanced economies.
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30.

31.

32.

33.

35.

36.

37.

38.

39.

What was the female employment-to-population ratio last year?

A. 59.6% B. 72.2% C. 47.1% D. 57.1%
Where did the largest growth deceleration take place?

A. In South-East Asia. B. In the Pacific.

C. In the Middle East. D. In South Africa.

What are likely to play negative a role in boosting growth in next years?

A. Infrastructure and human capital. B. The economic resources.

C. The economic adjustments. D. A rapid catch-up in economies.

What is the group of people planning to do around Times Square for about an hour?
A. They’re going to have lunch.

B. They will have time to do some shopping.

C. They will be having a tour of the area.
D

. They will have a rest.

. Which of the following is NOT true according to what you’ve just heard?

A. The speaker was born in the capital.

B. The speaker’s parents have once worked in the capital.

C. This is his first trip back in the capital.

D. This is his second trip in the capital.

What is the current weather condition outside according to the speaker?
A. It’s raining. B. It’s cloudy. C. It’s hailing. D. It’s windy.
Where can the man get a free wireless Internet connection?

A. In the hotel room. B. In the restaurant.

C. On the parking lot. D. In the lobby.

What is the speaker’s suggestion?

A. To take underground. B. To walk around.

C. To take a bus. D. To ride a bicycle.

Why didn’t the speaker catch the musical last night?
Because musical tickets were all sold out.
Because there was no musical last night.

Because the speaker likes movies.

0wy

Because the speaker dislikes the musical.
Which of the following is NOT true according to the speaker?

gF

The speaker would purchase his airline ticket online.
The speaker would check in at the airport with his e-ticket.

Purchasing and using an e-ticket would not save his time.

O Nw

. Purchasing and using an e-ticket would save his time.
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45.
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47.

48.
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What can you infer from what you’ve just heard?

A. The speaker was late for 45 minutes.

B. The speaker couldn’t get his boarding pass.

C. Nobody helped the speaker check in.

D. There was a long queue waiting at the check-in counter.

What is the speaker most probably doing?

A. Booking train tickets. B. Riding the train.

C. Riding the bus. D. Purchasing airline tickets.

What does the speaker mean?

A. He is tired of big cities.

B. He is fond of big cities.

C. He is longing for big cities.

D. He is dreaming of living in big cities.

Which of the following is true according to what you’ve just heard?

A. Public transit has replaced cars as the dominant form of transportation.

B. Cities no longer rely on public transit.

C. Cities no longer rely on cars.

D. Cities are still relying on cars.

Why does the speaker live in cities?

A. Because he got married there in big cities.

B. Because he got a job there in big cities.

C. Because his family members are there.

D. Because he is a university student there in big cities.

How many children interviewed thought people in cities were unfriendly?
A. About fifteen. B. About five.

C. Nearly two sixths. D. Nearly two thirds.
What does the speaker mean?

A. There is a sense of isolation in the city.

B. Most people are newcomers in the city.

C. All people are really busy in the city.

D. There is a busy, nonstop work culture in the city.

Which city is the most unaffordable housing market in the world?

A. Vancouver. B. The capital of Canada.
C. Hong Kong. D. Not mentioned.

What will the speaker most probably do?

A. He will leave London.
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